etrapez

KURS
PRAWDOPODOBIENSTWA

Lekcja 5
Zmienne losowe dyskretne (,,skokowe”)

ROZWIAZANIE ZADANIA DOMOWEGO
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Czeé¢ 1: TEST

Pytanie 1: d
Pytanie 2: c
Pytanie 3: a
Pytanie 4: b
Pytanie 5: ¢
Pytanie 6: a
Pytanie 7: c
Pytanie 8: ¢
Pytanie 9: c

Pytanie 10: b
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CZQS'(E 2: ZADANIA

Zad. 1

a) a=0,05

0 dlax<-4

0,2 dlaxe(-4,-3)
0,4 dlaxe(-3-1)
0,7 dlaxe(-10)
0,75 dlaxe(0,1)
0,85 dlaxe(12)
0,95 dlaxe(2,20)
1 dlax>20

b) F(x)=

) P(-3<X<1)=0,65;P(-3< X <1)=0,45;P(-3< X <10)=0,75;P(X <1)=0,85
P(|X|<1)=0,45;P(X >0)=0,25

d EX=-0,4; Xo5 =-1;,D=-1; X025 =-3 Xo,75 =0, Xoo = 2

e) D?(X)=2564;D(X)~5,064;y, ~3183;K ~13,192

Zad. 2
X1 113157
p(Li2)1j1
) 9191313
b) P(1<X<4):§;P(X33)=%;P(|X|>1):§;P(X+2§3):%

c EX :%3;%,5:5iD=5V D=7;%1=L%,=5%,=7

320
=——:;D(X
ar P(X)

_&b,

d D*(X) g 71~ 0.456;K~2113
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Zad. 3
D(X)zB,lll
Zad. 4
s |20 s

. ‘0,1‘0,4‘0,5
Zad.5

X,

: | 0 l 1 2 3 4 5
pz" 0,0003 ‘ 0,0064 | 0,0512 | 0,2048 | 0,4096 | 0,3277

0 dlax<0

0,0003 dlaxe(0,1)

0,0067 dlaxe(1,2)
F(x)=40,0579 dlaxe(2,

0,2627 dlaxe(3,

(4

0,6723 dlaxe
1 dlax>5

3)
4)
5)

P(X <3)=0,2627;EX =4;%,;=4;D=4;D*(X)=0,8;D(X)~0,894;, =-0,67,
K =3,0479

Zad.6

EX =200-0,05=10

DZ(X): 200-0,05-0,95=9,5
Zad.7

n=10, p=0,45
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Zad.8
a) P(X=0)=—e"~0135

1
b) P(X :1)=%e2 ~0,271

) P(X=0)+P(X=1)+P(X =2)+P(X =3)~0,857
Zad.9
P(X 23)=1-P(X =2)-P(X =1)-P(X =0)=0,058
Zad.10

10
P(X =10)= ?;_%I e ~0.0000152270248756350162655884859170604402166844134826...

KONIEC
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